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Question Number : 1 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
In a system of units, velocity (V), Force (F) and time (T) are taleen as fimdamental wuts, then the dimensional formula of mass 15

Options:
LF T
2 FvT

srFviTY

2..-1
4 [F VT

Question Number : 2 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
The distance z (in metres) travelled by a particle in thme t {in seconds) moving along a straight line is given by
)
=4t
How long would the particle travel before coming to rest?
Options:
1. 2m
2 3m

Cdm

3
4. 5m



Question Number : 3 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
The angle of projection of a projectile with the horizontal direction for which the horizontal range of the projectile is 4 tines the
mazximun height attained by the projectile is

Options:
1. 30°

[u]

1. 45
3. 60°

4 76°

Question Number : 4 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
— — —
Avwvector A which has magnitude of § is added to a vector B which lies along x-axis. The resultant of two vectors A
— —» —
and B lies along y-axis and has magnitude twice that of the magnitude of B The magnitude of B i3

Options:
V5

1. &6
.
Y5

L-2

3
36
4 8

Question Number : 5 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
A ball of mass 100g hits a smooth wertical wall normally with a velocity of 15my/s four times per second and rebounds each time
with a welocity of 15m/s. The average force exerted on the wall is

Options:
1. 6

S 15M
30
1IN

L-2

i

Question Number : 6 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

An object 15 acted upon by a force of constant magnitude which is always perpendicular to the velocity of the object. The motion
of the object talees place in a plane. It follows that the:

Options:

1. Velocity of the object is constant

-2

. acceleration of the object 15 constant

. momenhun of the object is constant

d= 0 La

. ldnetic energy of the object is constant

Question Number : 7 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

A stationary object explodes into two parts of masses m, and m.,. If Kl and I, be the lanectic enegies of masses m, and m,

1

respectively after splosion, then the ratio K2 Jis equal to:
Options:

m,
1 m Fi



( )

o]

4()

Question Number : 8 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

Sand drops vertically at the rate of 1kg/s onto a conveyor belt moving horizontally with a velocity of 0.2 mv's. The extra power
needed to keep the belt moving is

Options:
1. 0.04W

2002w
3 0.4W
4.0.7W

Question Number 9 Dlsplay Queﬂlon Number Yes SmgleLmeQu&Uon Option : No Option Orientation : Vertical

F1 {2 i+ 3]- k]N FZ—{|—3 j+4 k]N

Three forces and Fy are acting on an object to keep it in equilibrioun. The

Options:

A N
 (3i+3k)N
AN N
,(3i-3Kk)N

A N
;—(3i-3k)N
A N
, ~[3i+3k)N

Question Number : 10 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

A spherical body A of mass 1 kg moving along a straight line with a velocity 10nmys collides elastically with a stationary spherical
body B of mass llkg The welocity of the body B after collision is:

Options:
1. 10 mfs
. 20mfs

L-2

Zeln
S5 mfs

el

Question Number : 11 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
A block of mass m is placed on an inclined plane malking an angle @ with the horizontal If u be the coefficient of friction between
the block and the inclined plane, then the frictional force acting on the block is

Options:
. umg

Joumgsin @

Jumgcos @



4 umgtan @

Question Number : 12 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

™ 4 —
If the positon vector of a particle of mass m 15 r1 and the position vector of a particle of mass 3M i3 rz , then the position
vertor of the centre of mass of the system will be:

Options:

3-(T1+313)

P —
—( 1+ 302
2 ( )

k-2

(3ri+T12)
5 2

%{ﬁwﬁé)

4.

Question Number : 13 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
A small object of mass M, radivs F and uniform density rolls up a curved surface with an initial velocity v as shown in

=

Tv?
It reaches upto a height of @ with respect to the initial position. The object i3

Options:
1. a circular disc

L-2

. a circular ring

. a hollow sphere

[ WS

. a solid sphere

Question Number : 14 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Two particles of mass Ml and I, approach each other due to therr mutual gravitational force only. Then the

Options:
1. acceleration of particle of mass M, i3 directly proportional to M1

2. acceleration of particle of mass M, is directly proportional to M,



3. acceleration of particle of mass M, 1s inversely proportional to Ml

4. acceleration of both the particles are equal

Question Number : 15 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

According to Kepler's second law of planetary motion, "the line joiing the sun and the planet sweeps out equal areas m equal
intervals of time". This law is a consequences of the conservation of

Options:
1. Linear momentim

2. Angular momenhum
3. mechanical energy

4. mass

Question Number : 16 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Equation of continuity for the streamline flow of an ideal fluid eszpresses the law of conservation of:

Options:

. mass

2. energy
. Linear momehun

3
4. angular momentum

Question Number : 17 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

Young's modulus of aluminiim is 7 x 1IZI1|:I mej. The force needed to double the length of an alununium wire of area of cross
section 2.0 mmj 15

Options:

L 14z10"N

2 14%10° N

3. 14% 10N
3

414210 N

Question Number : 18 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Which of the following statements 15 correct?

Options:
. Viscosity of iquids decreases while that of gases increases with increase in temperature

L-2

. Viscosity of liquids increases while that of gases decreases with increase in temperature
. Wiscostty of both liquids and gases decreases with increase in temperature

3
4 Viscosity of both liquids and gases increases with increase in temperature

Question Number : 19 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

The Efficiency of a carnot engine worlang between source temperature T and sinke temperature 27°C is 25%. The source
tetmperature T 15

Options:
1. 300 K

400 E
CBODKE
1200 K

L-2

[ N Y



Question Number : 20 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Anideal gas undergoes four different processes from the same initial state as shown in figure. four processes designated as 1, 2, 3
and 4 are adiabatic, iso baric, isochoric and isothermal

N

b
=k

Out of 1, 2, 3 and 4 which one 15 1sobaric?
Options:
1.1

o]
]

oW
J= 0 wa

Question Number : 21 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

The root mean square speed of a gas molecule at 27°C is 'v'. What will be the temperature of the gas if the root mean square speed
of the gas molecule is to be doubled?

Options:
1.54° ¢

2 108° ¢
3.627°C
4 027° ¢

Question Number : 22 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

The acceleration (a) and the displacement (%) of four particles 1, 2, 3 and 4 are related respectively as
l.a=+4z

R
Ja=+4x
Ja=-4u
a
4 a=-4z

which one of these particles executes sunple harmonic motion?
Options:
1. 1.1



Question Number : 23 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

If the average translational lanetic energy per molecule of hydrogen (molecular weight = 2) at 27° C is E, then the average

translational lanetic energy per molecule of oxygen (IWolecular weight = 32) at 217° C i
Options:
1. I6E

4E
CEi4
E

L-2

R WV

Question Number : 24 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

An organ pipe of length L open at both ends vibrate in its first hanmonic when sounded with a tunning forke of 512 Hz. The length
of a pipe closed at one end so that it may wibrate i its third hanmonic with the same tunning forle is:

Options:

1. 4L

2 3L

L

s

33
3L

4.2

Question Number : 25 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

A train is moving on a straight tracl with a welocity of 20 mfs. It is blowing a whistle at the frequency of 1200 Hz. The speed of

sound m air 15 320 mfs. The frequency heard by a person sitting i the train is:

Options:

1. 12386 Hz

2. 1280 Hz
31200 Hz
4. 11282 Hz

Question Number : 26 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
If the speeds of microwaves, radiowaves, 2-rays and gammes rays in Vaccuum are; ‘JI ,V,,,‘JE and V 4 respectively, then

Options:

l.w

I}Vj}'f v

34

v, <V, SV, <Y

1 i 4

3. vy

4. vy

=W

2=V

3~V

4

>y <V <V,

Question Number : 27 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Inn a p-type semiconductor,

Options:

1. Electrons are majority carriers and trivalent atoms are dopants

2. Flectrons are minority carriers and trivalent atoms are dopants



3. Holes are majority carriers and pentavalent atoms are deponts

4. Holes are minonty carriers and trivalent atoms are dopants

Question Number : 28 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
To gain lugh output m AND gate, inputs A and B should be

Options:
1. A=0B=10

CA=0,B =l
JA=1.B=0
4 A=],B =l

]

Question Number : 29 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
The maxmmum amplitude of an amplitude modulated wave 15 18V and muimnmmun amphitude 15 6V, The modulation indes is:

Options:
1. 0.33

0.4
0.5
075

]

d La

Question Number : 30 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Which of the following statements 15 correct?

Options:

1. The focal length of a glass lens decreaes if the wavelength of mcident hight mcreases

-2

. The focal length of a glass lens mcreases if the wavelength of incident light mereases

. The power of a glass lens mcreases if the wavelength of incident light mcreases

d= 0 La

. The focal length of a glass lens of refractive index 1.5 decreases if it 15 unersed in water of refractive index 4/3.

Question Number : 31 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
An alpha particle mowing with a velocity v towards a nitrogen nucleus has the closest distance of approach equal to r. If the
velocity of the alpha particle is doubled, the new walue of the clozest distance of approach would be

Options:

Question Number : 32 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
An oil drop of mass EXID'H leg carries a charge . If the drop is stationary between two plates 10 nun apart having potential

differences of 800 volt between them, then the value of g is: {g=10 m/ sj}
Options:

1375z 108 ¢
2175z 108 ¢

32352108 ¢



420=z10% ¢

Question Number : 33 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
The unit of electric permittivity of free space is:

Options:
2 2
. newton.metre”. Coulomb

2. newton / coulomb

a a
3. coulomb”™ / newton. metre

4 ampere [ metre

Question Number : 34 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

An electric bulb rated for 500W at 100V is used in a circuit connected to a 220V supply. The resistance that must be connected in
series with the bulb to deliver 500 W is:

Options:

1. 6 ohin

k-2

12 ohun

24 ohun

el

36 ol

Question Number : 35 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
The variation of terminal potential difference V volt of a cell with current [ is shown in figure given below:

A

1.5

!

Vv
(in volt)

0 T(inA) — 3

The internal resistance of the cell is:
Options:
1. 0.1 chin

L-2

. 0.2 ghin
. 0.3 ohin

3
4. 0.4 ohin

Question Number : 36 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical



Twro parallel plate capacitors of capacitances C and 3C are connected in parallel and charged to a potential difference V. The
battery is then disconnected and the region between the plates of the capacitor of capacitance C is completely filled with a material
of diglectric constant K. MNow, the potential difference across the capacitors 1s:

Options:

3V

(K+3)

(K+3) V
3
3V

; (K+2)

1.

k-2

(K+3)

4.

Question Number : 37 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Two charges of magnitude 20) and - Q are situated at pomts ( a,0,0) and (2a, 0.0) respectively. The electric flux due to these
charges through a sphere of radiug '4a'with its centre at the origin is:

Options:

2a

I =
o

6 e M

M

o

Question Number : 38 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
The magnetic field intensity at the centre of a circular coil of radius r and carrying current Iis B. If the radius of the coil is halved
and the current through the cod is doubled, then the new value of the magnetic field intensity at the centre of the cod is:

Options:
1. 4B

2B

3

me]

B
4 4

Question Number : 39 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical



The worlt done i rotating a magnetic dipole of dipole moment M placed in a viform magnetic field of mtensity B from the stable
equilibrium position to the unstable equilibrium position is:

Options:
1. MB

2 INE
3 -MB
4 -2NMB

Question Number : 40 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

Two coherent sources of ight of intensity ratio 25:16 produce interference pattern. The intensity ratio of masamum and mininmum
of the mterference pattern is:

Options:
1.41:0

2811
39:1
4.5:4

Question Number : 41 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

An unpolarized light of intensity I is incident on a pair of Michol's prisms maldng an angle 30° with each other. The intensity of the
emnerging light from the pair of prismes is:

Options:
i
1. 2
i
2 4
I
3 8
3
4 8

Question Number : 42 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

Light of frequency 'fis falling on a metal surface of negligible work functionn. The mazinmun velocity of the electrons emitted from
the metal surface 1s "v'. The mazimum velocity of the electrons enutted from the same metal surface, when hight of fequency 9f
falls on the metal surface i

Options:

l.w

k-2

v

3w
Oy

o

Question Number : 43 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

A particle of mass M at rest decays mnto two particles of masses m, and m,, having velocities vy and v, respectively. The ratio of

the de-Brogle wavelength of these particles 15

Options:
ma

1 my
My

7 m



Vi

3. V2

2 1

Question Number : 44 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
The energy of an electron in an orbit of hydrogen atom is -3.4eV. The angular momentumn of the electron in the given orbit is:

Options:
h

| 2T
h

2. I
3

=

3. 27T
2h
4 I
Question Number : 45 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

When o0 Th 32 decays to ths. then n alpha particles and m beta particles are emitted. The values of n and m respectively are:

a2
Options:

l. Gand4

2 8and?2

3. 4 and 4
4 8and3

Question Number : 46 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

The decay constant of a certain radioactive material is 0.1733 per day. The time talen by the material to decay to 75% of its initial
amourt is:

Options:
1. 2 days
2.4 davs
3. 8 days
4 16 days

Question Number : 47 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
The instantaneous current and voltage of an a.c. Circuit are given by

[=(5%5n 3141) A and

V=1058m(3l4t+ W)V

The power dissipation in the circuit is;

Options:

1. 50W

5W

0.2W

-2

Rl

. ZET0

Question Number : 48 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical



A particle mowes in %-y plane i such a way that its = and v coordinates wary with time according to:

(1) = (£°-3t) and (1) = (£-21)

The velocity of the particle at t = 3 second is

Options:

A N
(271+27))

A A
,(3i+25]j)

A A
i- 25 j)
ANA
(3i+4j)

4.

Question Number : 49 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

A 50 mH mductor, a 10 Wicro Farad capeitor and a 20 olun resistor are connected m series toa 200 Va.c. Source of frequency
50 Hz. The mmpedance of the circwt at electrical resonance 1s:

Options:
1. 125 ohim

15.6 ohum

18 ohim

k-2

o

20 ohun

Question Number : 50 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

The spectral energy distribution of the sun has a mazimum at 480 mm. If the temperature of the sun is 6000 K, then the
temperature of a star for which this mazinnum 1s at 260 nm will be;

Options:

1. 12000 E

2. 8000 K

3. 3000 E

4 2000 K

Chemistry

Section Marks: 200
Display Number Panel: Yes
Group All Questions: No

Question Number : 51 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Inn an atom if

(a)n=3, /=2, m=0, s=+1/2,

() n=3, m=0, s=+1/2,

(c)n=3, /=1, m=1, 5s=-1/2 |

(d) =2, /=0, m=0,s=t1/2,

the mumber of elctrons m a,b,c,d.are respectively.



Options:
1.1,3,1.1

.5.3.1.1
35,331
4. 1.1.1.1

L-2

Question Number : 52 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Out of 5F 4,CF 4,:’-':6 F 4 IF 4 " which are having square planer geometry?

Options:
o
1. .JF4,2{E: F4

Question Number : 53 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Which out of the following hawve same bond order

Options:
1.CO,CN.NO', N,

-2

co.cv Not o)t
30,0, NO"

4.C0,CN, 0,

Question Number : 54 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Which of the following are iso structral with 51 O 4'4

Options:

1. MWH, ,5Cl

2 50

Question Number : 55 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
The ratio a/b ( a,b are vander waal's constant) of a real gas has the dimension -

Options:
1. At 111|:|1'1

2. L 1111::1'1
3 AL 111-:11'1

0
4 AtLmol”

Question Number : 56 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical



M
2 504 should be mized so that total wolune of the solution iz 100 ml

Under Sunilar conditions how many ml of 1M NaOH +

and rise in Temprature is masxinmm )
Options:

1. 67 ml,33ml

2 50ml, 50ml

3 37 ml63 ml

4. 60 ml,40ml

Question Number : 57 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

s
ATEB + 30

Ina closed vessel (s) (9) (9) if the partial pressure of C is doubled, then the partial pressure of B will be
Options:
1. Half of original pressure

1

1=
V2 of original pressure

o]

4
3 2\" 2

of original pressure

2 =Y

4 V2 of original pressure

Question Number : 58 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Which of the following solutions will have pH=1

{a) 200 ml of % HCL+100 ml of % MaOH

(1) 30 ml of % HC1 +45 ml Df% MNaOH

(c) 75 ml of % HC1+25 ml of % MNaOH

()50 ml of % HCL+150 ml of 2% H, 50,

Options:
l.a,c
cc,d
cbd
. a,d

L-2

[ O N

Question Number : 59 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Which of the following statement are not correct:-
(a) I_,a{CII-I}3 is less basic than Luf f:III-If,l3

(b)La is actually an element of transition series rather than lanthanides
(c)Atomic radins of Zr and Hf are almost equal because of lanthanide contraction
(d) The colour of KMnO , and K, Cr, O is due to d-d transition

Options:
l.ab
cc,d
. d,b
. a,d

L-2

[ O N



Question Number : 60 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
In which of the following pairs both ions are colured
Options:

+2 +2
1. 5¢ ,Co

£+
.Cu

ER B

+3 .+
4.S|:3,T1 3

2 M

Question Number : 61 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

Which of the following statements are correct:-
(a) [Ny C Oy 4] 15 tetrahedral and paramagetic

(B[N CIy {_1']'j 15 square planner and diamagnetic

(e[l 4]'j 15 tetrahedral and paramegntic
()M Co) 4] 15 tetrahedral and diamegnetic
Options:

l.a

.ab

cbed

.ab.d

-2

d= 0 La

Question Number : 62 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Miark the correct statements:

(a)in NCIB' munber of bond pairs and lone pairs on migrogen atom are 4,1

(b} the acidic character |:an-[3 1:'[:!j ‘ I-[3 P03 ,1-131:‘[:]4 15 in the order I-[3 PCIj} 1-13P03:=- 1—13 PCI4
{c) Ammonnun dichromate on heating gives NH3

{cl}l-13 F‘Clj. H3P[33. 1'13 FO 4 ArE having same geometry

Options:

l.ab

. b.c

cc.d

cbd

L-2

[ N Y

Question Number : 63 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
In Fj. Nj. Dj. Cl2 . E-rj . Ij. HC1, HBr , HI

(&) bond length is in the order NJ{OE{FE{CLJ

(b)) bond strength :Nj:»r;ilj:ij:bCl2

(c) oxidizing character F2:=~I312:=~E|1'2::~12

(acidic strength HF = HC1 =HBr = HI

which of the following are correct statement

Options:

1 ac.d

Il ab

3. a.c



4. c.d

Question Number : 64 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
In KC1 and MNaCl have same type of Crystal lattice and if 1'k+ h-l:].- =0.75and i'N;-.-"i'
of KCl and MNaCl will be

Options:

1. 5:6

4:3
7.8
23

cl_ = [.5, then the ratio of the sides of a unit cell

k-2

o

Question Number : 65 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

0.005 W solution of alwmimun sulphate is isotonic with 0.02 W solution of Glucose at same temprature. Degree of ionisation of
aluminium sulphate will be

Options:
1. 80%

. 50%
L 15%
. T0%

L-2

[ WS

Question Number : 66 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

a b C
et - r =< [A][B][C] . . |
Rate law for areaction & + B + C is given by on doubling the concentration of &, halving the
concentration of B and increasing the Concentration of C four times . The ratio of new rate law to the original rate law will be
Options:
11 Ze+a-b
n n2c-ath
2
3 17 -¢ +a+h

4. none of these

Question Number : 67 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
The order of stability of different confonmational isomers of ethylene glycol

Options:

1. Anti=Gauche=Eclipsed

L-2

. Gauche=Anti=Eclipsed
. Elisped=Anti>Gauche

[ O Y

. none of these

Question Number : 68 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

0 0
IUPAC name of [ I
c
|;/ \\/\H"/ i H
|
it

Options:
1. Cyclohexzanone-2propanal



k-2

2-Formyl Ethyl Cyclohozxane
. 3-(2-0zo cyclohexyl) Propanal

3
4. 2- Formyl cyclohezanone

Question Number : 69 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

which of the following will not show tauto merisim
1]

Il
c=¢ 0 =8 D
Ji TR ... c) Q/? (d) o:<;>:o (e)
H OH a S

Options:
l.acd

c.d

\

/

k-2

3 c.de
4 ahb,c.d

Question Number : 70 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Order of reactivity toward nucleophilic subsititution in the following compound

PP.5.¢

1. dec>e=b=a

k-2

cre=hb=d=a
. crazb=e=d

3
4 azh=d=c=e

Question Number : 71 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

A mixture of CH 4,1\13 I:Ij are enclosed i a contamer 1L capacity at DDC the total pressure of the mishure is 2680 mun of Hg If the
ratio of partial pressures of the gases 15 1:4.2 respectively. Then what will be number of moles of [Zilj present?

Options:

1. 17224

1.0

0.1

0.5

k-2

el

Question Number : 72 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
0.25 g of an organic compund was Ejeldelitised and NH3 evolved in absorbed in 25 ml of 0.5 M H,50 " The residual acid required

30ml of 0.5 MaOH sol The % nitrogen in organic compund is

Options:
1. 14

"‘l"‘lE



3 56
4. 42

Question Number : 73 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
The munber of P-O-PF bondsfndges m the structure of Phosphorous triozde and phosphorous pentaoxzide are respectivily

Options:
1. 6,6

5.5
S35
5.3

]

d La

Question Number : 74 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
When mercuric iodide is added to an aquous sol. of KI | we observe

(a) rise in freezing point

(1) depression in freezing point

ic) elevation i boiling Point

(d)Depression i boiing point

Options:

l.a,c

cbd

cad

Cboe

L-2

[ O Y

Question Number : 75 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
pKa of wealc acid i1 5.2 pKb of weal base = 4.5, then pH of Ag. 5ol of corresponding salt will be

Options:
1.7.2

1.0
6.8
6.9

]

[ O Y

Question Number : 76 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Pd/Baso4

But-2 yne + H, [A] But-2-ene

But-2yne NaﬂinH?) [B] But -2-ene, then

Options:
1. A will be cis product while B 15 trans

L-2

. Both & and B are trans
3. Both A and B are Cis
4. Aids trans B is Cis

Question Number : 77 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical



Find the incorrect among the following
NO2

(a)- 2,4 Dinitrg aniline wﬂi[g] 3”"'”9 DN @—N N @ NH;
OC

CH

3 Alk KMnQ Stron

(b) g [A] .g Phthalic anhydride

Fi) Heating
CHg

2

g U i) KoH _
(d) . | N-H—— [a] hydrolysis (E:HS NH

I 2) CHg Ct

Options:
1. ac

b.d
c,d
b.c

k-2

o

Question Number : 78 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

The basic character of following amines is in the order
Options:
CH aNH3

NH2 NH2

(CH3) NH CH3NH2 >{CH3}3N>E’Dj > NH; > ED; > E’Dj

CHs

g;:|-|2[-.,||-|2 INH2 NHZ

(CH3),NH > (CH3)3 N> CH3NH, > NH 5 > [@j

k-2

(&) >E

. NH) NH
gt o, > oty > i S () )

{CHE}.3N> {EHg}gNH> CH3NH, > [Qj R

CHj

NHE

ROPLSIC

Question Number : 79 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

The co-agulation of 50ml of colloidal solution of gold is completely prevented from precipitation by the addition of 0.1 g ofa
protective colloid to it before the addition of lml of 10% MaCl solution. The gold mumber of protective colloid is

Options:
1. 0.10



k-2

20
100
2.0

o

Question Number : 80 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Which of the following is correct statement

(a) Terylene is a polyamide and MNylon-66 15 a polyester

(b)Terylene is a polyster and MNylon-66 15 a polyamide

(c)the intermolecular forces are in the order Nylon=polythene=Buna-5 rubber

(d) the monomer of strach is =(D) glucose

Options:

l.acd

. b.c

L-2

. d,c

3
4 bcd

Question Number : 81 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Ezcess of KL is added to Cu S0 4snluti|:|11 and then sodiumn thiosulphate solution is added to it. Which of the following statement is

incorrect for the reaction

Options:

1. Cu, L is fonmed
A I‘} ;

2. 7< 15 formed

3. Cu Ifis formed

4. Sodium thiosulphate is ozidized

Question Number : 82 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

in the reaction G - m— Dz + [0] fast

E]I+IDI3 — 202 slow

The rate of reaction is given by:--
Options:
1. =K[0,]"

]

4. r=K[0,][0,]"

Question Number : 83 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
If MaCl doped with 10 - mole % of Al C13 then the concentration of vacancies will be
Options:

1. 6.02%10" mar

2. 12,0410 mor



3. 12,0410 et

4 12.04310" 'mor™

Question Number : 84 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
In a buffer solution of a wealt acid and its salt with a strong base, when the ratio of concentration of salt to acid is mereased by 10
times, then pH of the buffer solution

Options:
1. decreses 10 tiunes

2 icreases 10 times
. decreases by 1

3
4, mcreases by |

Question Number : 85 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

+

o .|_2 o £ o
EforCu + 2e=>Cu E=034V Cu+e—=>Cu E=053V

o +2 g
Then E for Cu+ e = Cu will be
Options:
1.0.15V
010V
- 019V
076V

-2

o

Question Number : 86 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Sulphur monochloride undergoes slow hydrolysis to form

Options:
1. 50,+HC1

2 HC1S0,.8
3. HC1S,0,

4. 50, HC

Question Number : 87 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

In a reaction C H_COOH ST [A] % HE B] HCN
6 AlCl; Hydrolysis [C]

compound Cis

Options:
OH

|
(53
CH ‘
5 o



2. - "
o
@— C—C|—CH5
3 I-|| CN
H
@)
4_ o

Question Number : 88 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Colourless solution of salts ENDE, Zn{NDE}T f—‘agNDE, Zns’ 4 ATe given. A strip of copper n dipped in each solution. Wiuch

solution will turn blue?
Options:

l. E‘.n(NOE}j

2. Zni0

3. EMNO

4. AgNO,

Question Number : 89 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
The first iomisation energy of Ma, Mg , Al, 51 P 5 are in the order

Options:
1. 3=P=3i=Al=Mg= MNa

. 3xPeEi=hg=Al=Ma
. P=3=51=Al=Mg=Ma
- P=5=5=hg=Al=Ma

]

[ O Y

Question Number : 90 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

In the complex ion[Fe EDTA]'l, the Omidation number of Fe,Co-ordination munber of complex ion and geomaetry of the complex
ion are repectively

Options:

1. 3,6 octahedral

. 3,1 Linear

3. -1,1 tetrahedral

4. 3,1 octahedral

L-2

Question Number : 91 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical



strong heating Zn/Hcl

Adipic acid = [A] > [B] then
573K

Bis
Options:
l. hesmanone

L-2

. cyclohexanone
. cyclopentanone

3
4. cyclopentane

Question Number : 92 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Bromination of trans-2 butene leads to the formation of

Options:
1. d.form
2. meso compound

f form

3
4. hoth d and / form

Question Number : 93 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Which of the following esters cannot undergo claisen condensation

Options:

1. IClI-IBCCICIICIH3
2. CI—%CDOC,,HS
3. erHjCCICICI-I3

4. CH.CH,COOCH,

Question Number : 94 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

An ester MF {CE HIS 0,) on hydralysis gives an acid which reduces tollen reagent and an alchol which gives iodoform test . The
ester 15

Options:

1. methnyl acetate

L-2

. methyl formate
3. ethyl formate
4. ethyl acetate

Question Number : 95 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
The correct sequence of the size of the following 15 in the order

Options:

m?( Ne<N;< F'<D_2
M+B2< N‘;< Ne<0_2< e
) M+g2< N;<Ne< F_<D-2

-2



Ar & M+g2 <Nz;< F‘(n{:f2

Question Number : 96 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Which of the following will produce CO., gas when treated with MaHCO 3 solution

= b. C. d. e.
Phenol 246 Acetic 246 ethyl alchol
trinitro phenal acid tnimethyl phenol

Options:

1. b,cd

Ic

3 b

4 a.e

Question Number : 97 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Cut of the following compounds which will give iodoform test

(a)lsopropyl alchol

(b)lso butyl alchol

(c)secondary butyl alchol

{(d) ethyl alchol

(&) Acetic acid

Options:

1. ab.d

.ad

]

ca,c.d

[ O Y

.a,de

Question Number : 98 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
When a mixture of p-methyl benzaldehyde and formaldelwyde is treated with ag Sol of cone KOH The product obtained are
Options:

1. pot p methyl benzoate + methyl alchol

]

. p- methyl benzyl alchol +pot. Formate
. p-methyl benzyl alchol + methyl alchol

3
4. pot p methyl benzoate + pot formate

Question Number : 99 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
The correct sequence of acidic character of the following

Options:
l. I—ICODH::CHJFCCICII—I::CHBCDDHbcﬁHchOHbcﬁHchJCDDH

1 CI—LjFCDDH}HCDOH}CHBCDDH}C6H5CDDH>C6H5CH.,CDDH
3. HCOOH >C H,F COOH :Cﬁ H5 COOH= CI—I3 COOH= ':5 Hj CH, COOH

4.C I—I2 F COCH -HCOOH }Cﬁ H5 COOH= Cﬁ H5 ICII-I2 COOH :=-CI-13 COOH

Question Number : 100 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical



I mole of N0, 1s enclosed in a vessel at 250k and at a pressure of 1 AtP . If it 1s heated to 500K and 25% of N, 0, then

decomposed to give MO, the resultant pressure will be

Options:

1. 1.25 At

2005 At

32 A

4 1 At

Binlogy

Section Marks: 400
Display Number Panel: Yes
Group All Questions: No

Question Number : 101 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
To which class space alga Chilorella belongs?

Options:

1. Cyanophyceae

-2

. Rhodophyceae
. Phaeophyceae

3
4 Chloroplyceae

Question Number : 102 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Who shared the Mobel prize for the discovery of DMNA structure?

Options:

1. Watson, Crick and Frankdin

. Watson, Crick and Willgins

-2

3. Watson, Crick and Pauling
4 Watson and Crick only

Question Number : 103 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Which one of the following is not a eulcaryote?

Options:

1. Blue green algae

L-2

. Green algas
3. Fed algae
4 Brown algae

Question Number : 104 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

The naturalist Charles Darwin was nspired to write Origin of species when the ship (H M. 5 Beagle) in which he was travelling
reached:

Options:
1. Hawail 1slands
2. Galapagos islands



3. Antarctica

4. Great barrier reef

Question Number : 105 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
The sexual reproduction of lichen thallus belongs to:

Options:

1. Algal component only

]

. Fungal component only
3. Both algal and fungal component
4. Mot understood yet

Question Number : 106 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
All enzymes are proteins except:

Options:

1. Carbolydrates

. Lipids

]

. Mucleic acids

d La

. Ribozyimes

Question Number : 107 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
The evolution of oxygen during photosynthesis is a function of

Options:

1. Light reaction

-2

. Darle reaction
. Respiratory mfluence

3
4. Both light and dark reaction

Question Number : 108 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Which one of the following are lmown as amphibians of plant ldngdom?

Options:

1. Angiosperms

-2

. Gymnosperins

3. Bryophytes
4. Pteridophytes

Question Number : 109 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
In genetic code the number of stop codons are

Options:

1. Two

-2

. Three
.Four

3
4. Five

Question Number : 110 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
When a cell indergoes meiosis the number of chromosomes in daughter cells will be:

Options:

1. Reduced to half



L-2

. Increased to double

. Remains unchanged

[ O Y

. Distributes unequally

Question Number : 111 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Who is known as father of plant tissue culture?

Options:

1. Haberlandt

-2

Steward

. White

[ N Y

. Slkoog

Question Number : 112 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Which of the following statement is a characteristic feature of CAN plants?

Options:

1. Release O=zygen during day

L-2

. Release Oxygen during might
. Open ther stomata during night.

3
4. Do not respire during day.

Question Number : 113 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Which of the following act as biofertilizers?

Options:

1. Blue green algae
2. Green algae

3. Vellow algae

4. Red algae

Question Number : 114 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
When self pollination is prevented by some mechanical barrier the situation is known as:

Options:

. Herkogany

L-2

. Dichogamy
3. Homogany
4. Antogamy

Question Number : 115 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
In which plant group the phenomena of double fertilization is found?

Options:

. Gymnosperms

L-2

. Angiospenms

3. Bryophytes
4. Pteridophytes

Question Number : 116 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Who coined the term ecology?

Options:



1. Kormondy
. Haecltel

]

. Warning

3
4. Elton

Question Number : 117 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
The magnesium in chlorophyll molecule 15 located in the:

Options:

1. Centre of porplyyrin head
2. Corner of porphyrin head
3. Phytol tail

4. Mone of the all

Question Number : 118 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
The first compound light microscope was constructed by

Options:

1. Hooke

-2

. Brown
. Leewwenhoek

3
4. Zernicle

Question Number : 119 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
In light microscope which lens does not talee part in image formation?

Options:

1. Objective (53)

. Objective (420

-2

. Condenser

3
4. Ocular

Question Number : 120 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
In which phase of the cell cycle chromosome duplication occurs?
Options:

L G,

k-2

G

2
35

4. M

Question Number : 121 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Which one of the following statement is correct about atmospheric ozone?

Options:

1. It act as protector

L-2

. It act as destroyer
. It act as both protector and destroyer

3
4. It has no role in biosphers

Question Number : 122 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical



Dendel's laws of heredity were rediscovered by
Options:

1. Hugo de Vries

2. Carl Correns

3. Tschermalk

4. Al of these

Question Number : 123 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Which set of pigments are involved in green plant photosynthesis 7

Options:

1. Chloroplylls, Carotenoids and Anthocyaning

]

. Chloroplylls, Carotenoids and Betacyaning
3. Chlorophylls, Carotenoids and Phycobiling
4. Chlorophylls, Carotenes and Xanthophylls

Question Number : 124 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Which Indian molecular biologist was awarded MNobel prize for the discovery of genetic code?

Options:

1. HG. Ehorana

2. V. Ramalarishnan
3. 5K Eashyap

4. C.V. Raman

Question Number : 125 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
The occurrence of relatively definite sequence of conumuuties over a period of time in the same area is lmown as:
Options:

1. Change in biodiversity

-2

. Ecosystem degradation

. Ecological succession

d= 0 La

. Econotnic succession

Question Number : 126 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Which statement is more correct about genetic code

Options:

1. Tt 15 absolutely wiversal

-2

. It 15 nearly universal
. It 15 not universal

3
4. Tt 15 obsolete and of no use

Question Number : 127 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
In which of the following angiosperm family cruciform corolla is found?

Options:
1. Malvaceae

2. Bragsicaceae
. Rammculaceae

3
4. Solanaceae



Question Number : 128 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
The graphic representation of trophic structure and function at various levels are known as:

Options:

1. Food weh

2. Trophic levels
3. Ecological pyramids
4. Pyramids

Question Number : 129 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
What type of toxcity 15 being experienced by survivors of Magasala and Hiroshima?

Options:

|. Radioactive

2. Cosmic

3. Ultrawviolet
4. Infrared

Question Number : 130 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Which one of the following metal ion was responsible for Minamata epidenuic i Japan and Sweden?

Options:

. Mercury

2. Magnesnun
3. Manganese
4. Cadmiwm

Question Number : 131 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
In which state Corbett tiger reserve 15 situated 7

Options:
1. Uttar Pradesh

. Wadlyya Pradesh
3. Andhra Pradesh
4. Annachal Pradesh

-2

Question Number : 132 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
The use of living organisms for removal of pollutants from the biosphere is called:

Options:

. Green movement

-2

. Phytoremediation
. Bioramediation

3
4. Femediation

Question Number : 133 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
India has ten biogeographic zones . Therefore it can be concluded that our country is:

Options:

1. Rich in biodiversity

-2

. Poor in biodiversity

3. Moderate in biodiversity



4. Mone of these

Question Number : 134 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
In an experiment the gene of bichuninescence from fire fly has been successfully transferred in to a plant as result of which it
started to glow. In the termunology of molecular genetics this plant 15 called :

Options:
1. Firefly plant
. Hybrid plant

]

. Transgenic plant

3
4. Bioluminescent plant

Question Number : 135 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
The seeds swell when placed m water for few hours . This phenomena is lenown as:

Options:

1. Imbibition

. Diffusion

]

. Osmosis

3
4. Absorption

Question Number : 136 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Herophytes are the plants which grow i

Options:

. Dry areas

]

CWater
Land

B

. Places where land and water meet

Question Number : 137 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
The experiment of Hershey-Chase proved that:

Options:

1. Protein is genetic material

]

. DIMNA 15 genetic material
. DMNA replication 15 conservative

3
4. One gene synthesizes one enzyme

Question Number : 138 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
In Operon model the fimction of regulator gene is to produce:

Options:
1. Repressor
2. Inducer
. Co-repressor

3
4. RINA

Question Number : 139 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Who were the discoverers of Transduction?

Options:

1. Zinder and Lederherg



L-2

. Zinder and Tautain
3. Zinder and Griffith
4. Fmder and Zinder

Question Number : 140 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Which of the following has revolutionized the discipline of Biotechnology?
Options:
1. Eestriction Endonucleases
2. Discovery of DMNA structure
. Recombinant DMNA

3
4. All of these

Question Number : 141 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
What should be the mintmum nwmber of traits talken into consideration to prove Mendel's law of independent assortment”
Options:

1. One

-2

Two

. Three

[ N Y

.Four

Question Number : 142 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
What is the norinal level of ploidy in the endospenm of angiosperms?

Options:
1L

M
3N
4

L2

i

Question Number : 143 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
From evolutionary point of wiew the tendrils of pea plant and grape vine are;

Options:

. Homologous organs

L-2

. Analogous organs
3. Connecting linles
4. Missing linles

Question Number : 144 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
For the proper growth of a plant the elements required i minute quantity as compared to other elements are known as:
Options:

1. Option (A) Microelements

. Option (B) Essential elements

L-2

. Mecessary elements
. Both Option (4) and Option (B)

[ WS

Question Number : 145 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
With the help of carbon dating technique which one of the following can be measured?

Options:



1. Age ofa fossil

]

cAge ofarock
. Age of a monument

3
4. Age of the universe

Question Number : 146 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Histones are group of proteins which are rich m basic amino acids and they perform the fiunction of

Options:

1. DMA Cotling

. FMNA Coiling

-2

3. protemn Coiling
4 Mucleic acid coiling

Question Number : 147 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
In Mliller' s experiment about origin of life the flask containing water mimicleed:

Options:
1. Sea
River

. Pond

k-2

d= 0 La

. Mone of these

Question Number : 148 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
The paclet of thylaloids in a chloroplast is called:

Options:
1. Fret channels
2. Gramun

. Stroma thylaleoid

3
4. Photosynthetic thylaloid

Question Number : 149 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Which one of following pair of organelles are semiautonomous?

Options:

1. Mitochondria and Chloroplast

L-2

. Whtochondria and Golgi body
. Mitochondria and Endoplasmic reticulum

3
4 Mitochondra and Lysosomes

Question Number : 150 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
The function of electron transport chain in both mitochondria and chloroplast is to dewvelop:

Options:

1. Mineral gradient

L-2

. Proton gradient
3. Aqueous gradient
4. Protein gradient

Question Number : 151 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical



Bacteriophage is the name given to a
Options:

l. Bacteriumn that infects a higher plant cell
2. Virus that infects a bacteriwmn

3. Bacternun which infects an amimal cell

4. An organelleof the bacternun

Question Number : 152 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Abingenesis means:

Options:

1. Origin of life from non-living orgamisms

]

. Origin of life from living organisims
. Drigin of viruses and microbes

3
4. Spontaneous generation

Question Number : 153 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Infective stage of Plasmodium 1s:

Options:
1. Trophozoite

2. Sporozoite
. Merozoite

3
4. Schizoite

Question Number : 154 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Gut 15 found m all but one of the following tazonomic groups of Platyhelminlthes

Options:
1. Digenea
. Cestoda

. Polycladida

-2

3
4. Monogenia

Question Number : 155 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Languo is:

Options:

1. & feather at the jnction of rachis and quill

-2

A centrum feather present on tail region
. Coating of hairs on epidermies of man

3
4. A coating of fine hair with which the body of manunals is covered during foetal development

Question Number : 156 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
The enzyme invertase hydrolyses:

Options:

1. Sucrose into glucose and fructose

k-2

Celluloge into starch

Glucose into sucrose

o

Starch into sucrose



Question Number : 157 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
"Portuguese man of war” is a;

Options:

1. Soldier

o]

Sponge

solitary Polymorphic coelentrate

i

colommal coelenterate

Question Number : 158 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Cenurninous or wax producing glands are modified:

Options:
1. Aporcrine sweat gland
2. Merocrine sweat gland
. holocrine sebaceous gland

3
4. Aprocrine sebaceous gland

Question Number : 159 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
The only true slan gland of the birds are

Options:
1. Sweat Gland

. Sebaceous Gland
. Uropygial Gland
. Femoral Gland

]

d La

Question Number : 160 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
The term "hormone” was coined m 1905 by

Options:
1. E H Starling

. I Mareillo
3. W. Klittalear
4. T. Boucher

-2

Question Number : 161 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Fespiratory system is derived from:

Options:

1. Electroderm

-2

. Meroderm
3. Endoderm
4. Chorda Meroderm

Question Number : 162 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Neuromotor system found in Paramecivm Controls:

Options:
1. Degestion in Paramecium

2. Mervous System in Paramecium

3. Locomotion in Paramecium



4. Osmorgulation in Parameciim

Question Number : 163 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
"Glass sponge” belongs to class:

Options:

1. Calcarea

2. Hemactinellida
3. Tetractinellida
4. Demospongia

Question Number : 164 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Aszezual reproduction in sponges takes place with the help of

Options:

1. hultiple Fission

L-2

. Binary Fission
. Gemmule formation

3
4. Germmae formation

Question Number : 165 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
What will happen if hydra is cut transversly mto two halves:

Options:

1. Build up the lost part

L-2

. Tend to reunite
3. Cut ends get healed
4. Both halves die

Question Number : 166 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
"Lasso” 15 a structure found in:

Options:
1. Mutritive WMuscular cell
. Epilthelio muscular cell

L-2

3. Bensory cell
4 Mematoblasts

Question Number : 167 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
A progiottid of Taenia is called Grawid only when it has:

Options:

1. Both male and female reproductive organs well developed

L-2

. Only female organs well developed
3. Well branched uterus filled with eggs
4 Become dead

Question Number : 168 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Ehabditiform larva 15 a stage in the life cycle of

Options:

1. Taenia

2. Filaria



3. Ascaris

4 Wuchereria

Question Number : 169 Display Question Number
Lateral hearts in Earthworm are situated in;

Options:

1. ?th and ch SEEMEnts
2 IIIIth and 11thl segments

3. chaml 14th segments

4 14111, lith and lﬁth segments

Question Number : 170 Display Question Number
Arolim in Cocloroach helps in:

Options:

1. Digestion

2. Fespiration
. Locomaotion

3
4. Reproduction

Question Number : 171 Display Question Number
Matural Parthenogenesis occurs in:

Options:

1. Honey Bee

Hille- Worm

k-2

3. Earthworm
4. Al ingects

Question Number : 172 Display Question Number

: Yes Single Line Question Option : No Option Orientation : Vertical

: Yes Single Line Question Option : No Option Orientation : Vertical

: Yes Single Line Question Option : No Option Orientation : Vertical

: Yes Single Line Question Option : No Option Orientation : Vertical

Which of the following disease is caused by MNosema bombycis:

Options:
1. Pehrine

L-2

. Flacherie
. Grasserie

3
4. Muscadine

Question Number : 173 Display Question Number

: Yes Single Line Question Option : No Option Orientation : Vertical

Eyes of the molluscan group that resembles vertebrate eyes:

Options:
1. Pelecypoda

. Cephalopoda

L-2

3. Gastropoda
4 Scaphopoda

Question Number : 174 Display Question Number
Ilost prinutive among following MMollusc is:

Options:

: Yes Single Line Question Option : No Option Orientation : Vertical



1. Mautilus
. MNeopiling

]

. Chiton

3
4. Patella

Question Number : 175 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
When a single gene may express more than one phenotypic effect. This phenomenon is called:

Options:

1. Multiple Alelism

. Pletotropy

-2

. Co-dominance

d= 0 La

. Polygeny

Question Number : 176 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
The amino acid attaches to the transfer RINA at its:

Options:

1. 5" end

-2

CAnticodon site
3.3 end
4. DHU Loop

Question Number : 177 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
The formation of mesodern as evaginated sacs from the archenteron is characteristic of:

Options:

1. Pentaceros
2 Pila

. Palammnaeous

3
4 Plyysalia

Question Number : 178 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Which one is a link between chordates and Non-Chordates?

Options:

1. Crocodilia

k-2

ophenodon
. Tadpole larva
. Balanoglossus

d= L

Question Number : 179 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Petromyzon is:

Options:

1. Anadrornous

L-2

. Catadromons
. Modromous

3
4. Potamodromous

Question Number : 180 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical



Which one of the following categories of animals is correctly described with no single exception in it?
Options:
1. All reptiles possess scales have a three chambered heart and are cold -blooded (FPodalothermal)

]

. Al bony fishes have four pairs of gills and an operculum on each side
. Al sponges are marine and have collared cells

3
4. All mammals are viviparous and possess diaphragm for breathing

Question Number : 181 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Velam is found in:

Options:

1. Option (&) Herdmania

]

. Option (1) Amphiozus

. Option (&) Branchiostoma

[ O Y

. Both option (b)) and option ()

Question Number : 182 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
You are watching a horror mowie and you notice your heart 15 beating fast and mouth 15 dry. It is because of:

Options:

1. Option (&) Fight and flight response

]

. Dption (b) Autonomic nervous system
. Option () Sympathetic nervous system

. Both{a) and (c)

d La

Question Number : 183 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
The muscle band that remains unchanged durning contraction and relazation of the skeletal muscle 1s:

Options:
1.1

H
3 A
4. A Line

k-2

Question Number : 184 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Somatostatin is a hormone secreted by hypothalamus. It inhibits th secreation of:

Options:

1. Thyrozne

-2

. GH ({Growth Hormone)
. Vasopressin

3
4. ACTH

Question Number : 185 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Ischihara chart is used to detect:

Options:
1. Eye sight
. Colour Blindness

-2

3. Diabetes
4. Tuberculosis



Question Number : 186 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

There is trisomy of 13 Chromosomes characterised by mental retardation, sloping forhead, deformed face, polydactyly, cardiac
defects etc. The syndrome is:

Options:

1. Klinefelter syndrome

L-2

. Pataw's syndrome
. Edwards syndrome

3
4. Turner's syndrome

Question Number : 187 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Who is kmown as the Father of Physiological Genetics or the Father of Biochemical Genetics:

Options:

1. Slatyer

L-2

. Charles Elton
. Taylor
. Archibald Garrod

[ R Y

Question Number : 188 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Whose experiments cracleed the genetic code and discovered unequivocally that genetic code 15 a triplet:

Options:

1. Mirenberg and Iethae

L-2

. Hershey and chase
. Worgan and Sturtevant

3
4. Beadle and Tahun

Question Number : 189 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Desmosomes are;

Options:

1. Specialised thickened areas that facilitate cell adhesion

L-2

. mite for storage of lecithin and pigment

. Reservoir for perozidises and catalases

[ O Y

. Found i E-Coli and Streptococus

Question Number : 190 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Achilles tendon is associated with;

Options:

1. Gluteus Muscle

L-2

. Hamstring Nuscle
. Quadricep Muscle

3
4. Gastrocnemius huscle

Question Number : 191 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Given below is the chemical formula of!

Q

II

CH,(CH,)14-C-OH



Options:

1. Palmitic acid
2. Stearic acid
3. Glycerol

4 Galactose

Question Number : 192 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Decline in the activity of the enzyme Hezolanase by Glucose -6- phosphate is caused by:

Options:
1. Non- Competetive inhibition
2. Competetive inhibition

. Allosteric Modulator

3
4 Denahuration of enzyme

Question Number : 193 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

some of the free energy released i the mitochondrial electron trasport chain can be harnessed to the formation of Adonosine
Trisulphate (ATP). How many moles of ATP can be formed per mole pair of electrons transferred from reduced nicotinamide -
adenine dinucleotide to oxygen:

Options:

1.0

k-2
—

oW
L

Question Number : 194 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Converson of Glucose -6- phosphate requires ATP yet critically ill patients are given glucose solution infravenously instead of
glucose - 6 - phosphate . The reason for not giving glucose -6- phosphate directly is:

Options:

1. G -6- phosphate 15 degraded very fast in the blood before it enters the cells

L-2

. Commercial preparation of G -6- phosphate are always contaminated with toxic chemicals
3. High cost of G -6- phosphate
4. Cells can't talke up G -6- phosphate

Question Number : 195 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Fatty acids are transported into the mitocondria bound to:

Options:

. Thiolinase

]

. Coenzyme A
CAcetyl -Co A

3
4. Carnitine

Question Number : 196 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical

In the absence of bilesalts, glycocholic and taurocholic acid, the mtestinal absorption of all the following would be impeded except:
Options:

1. Riboflawvin

2. Oleic acid

3. Cholestrol



4. Vitamin A

Question Number : 197 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
bilent mutations in DMNA are not expressed due to:

Options:

1. Universality of genetic code

2. Non- ambiguous nature of genetic code

. Degeneracy of genetic code

3
4. DA 15 linear

Question Number : 198 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
The gastric gland cell whose absence could lead to pernicious anameria 15 the;

Options:

1. Chief Cell

. Glohet Cell
3. Nucous Cell
4. Parietal Cell

L-2

Question Number : 199 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
Which protemn is described as the "Guardian of the genome":

Options:
1. p53

. Cyclin I
3. CDK 4
4. Rb

L-2

Question Number : 200 Display Question Number : Yes Single Line Question Option : No Option Orientation : Vertical
The phenomenon of genetic drift is most likely to occur in populations that are;

Options:

1. Bmall and mbred

L-2

. Undergoing gene flow

. Allopatric

[ O N

. Lage and panmictic



